240410-notes.notebook April 10, 2024

I did some shuffling around of Chapter 4 Assignments. Needed to clean up the overlap
between sections of Chapter 4. 1 think it's because I built the course off the 9th Edition
and they changed just enough to call it a 10th Edition, accomplishing nothing but messing
up existing homework assignments.

Sorry about that. They said they would update the assignments for the next edition, and
for the most part, they did, but they really messed with 4.3 - 4.5. 9th edition didn't even
have a 4.5. DeMoivre was covered in 4.4.

I re-scheduled 4.3 - 4.5, and pushed Test 4 back to Tuesday from the Sunday deadline.
There are questions in the 4.3 WebAssign that are from 4.4 in the 10th Edition. Sorry!

Click Here for Course Schedule for the Latest Revision.
(Link also pasted into chat.)

4.3 - Due Thursday - I did no distance or midpoint, yet.
4.4 - Due Sunday

4.5 - Due Monday

Test 4 - Due Tuesday.

Sorry about the 10th-edition mix-ups, but the pedagogy and sequencing are still the same,
although distributed to different sections.

You have seen most of 4.4 material and heard mention of DeMoivre's Theorem. DeMoivre's
Theorem is Section 4.5 stuff.

So, today, examples from 4.3, 4.4, and discussion of 4.5, with examples.


https://harryzaims.com/public_html/122/1420-spring-24/1420-schedule-spring-24.pdf
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Midpoint: Same as in the plane:
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4.4 - Trig Form
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If you're given complex numbers in trigonometric form, then multiplication and division are easy.
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Section 4.5 - DeMoivre's Theorem.
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